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What did one math book say to the
other math book?

"I don't know about you man, but I
got a lot of problems!"




Goals aligned to the Common Core Standards:

o You will create linear functions & nequalities
from 2 sequence, table, or 2 éiven relationship.

o YVou will be able to describe key features of 2
linear function.



the equation y = 17x, where y
represents the number of trees and x

represents the tons of paper recycled.



Equations?

Joseph earns a monthly salary of
$1200 and a commission of $125
for every car he sells. He needs
to make $3500 each month to pay
all of his bills. Why would a linear

equation be useful in this fl::rmthunmna mwwm
! ! newbomn puppées, ns, injured or
SltUﬂtlﬂ'n? ill animals. During the spring and summer,

a large sheiter can place 3000 animals in
homes each month.

if a shelter had 200 animals in foster
homes at the beginning of spring, the
number of animals in foster homes at the
end of the summer could be represented
by y = 3000x + 200, where xis the

i number of months and y is the number
iess  of animals.




What is slope-intercept form?
y=mx+ b

m = slope

(0, b) = y-intercept (poir}t
where line crosses y—axis)
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Write an equation in slope—intercept
form for the line with the given slope
and y—intercept.

X
m = 1/4 point: (0, 3)

m=-3 point: (0, 2/3)
y:-:ﬂ”\Hb
I A



Write tl_le equation of the line
when given...

a zero slope and a y—intercept

of 6 \{'-'-O)H-(p

an _undefined slope and a
xX—1ntercept of 5
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Which of the following is an equation in
slope-intercept form for the line shown?

Ay=-3x+1
By=-3x+3
=1
é-— 3I+1 ]
Dy——%x+3 m'"_*




Using the slope-intercept
form, hcr)?w would you graph
the line* 1\
m > b=5
y = I /2x + %

What about these?

5=2 X= ~%



StCPS:

i. Make sure your ﬁquatiﬂn 1S 1N 5[:::r|:>c-
iﬂtE‘.FCEPt form.

2. Flmt your 3~intercept on the 9~a>¢i5+

5. ]:rc:m the 5—-intcrcﬂpt, use the slﬂpc to P|r::ut
at least 2 additional Pmintﬁ.

4. Draw a ine t}argugh the Pmintﬁ..



y=1/2x+




y-—~2./’5x+2.-*b *



y = -3
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Lets Fraclice
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Lets Fraclice




Lets Fraclice
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Lets Fraclice
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Determne whick ordered /ﬁﬂr}ﬁf are /ﬂaﬁt ﬂf the solulion set
for each ireqality [y < 3.?5 3(3) =% Py

(=30, (532, (1)), (12))
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What is the equation of the [ine in
slope-intercept form?

X 2|46 (810 Graph it

Y [-1]2|5 |8 |11] Deseribe it.







Graph by table:

3y +2x =3
X y






Goals aligned to the Common Core Standards:

e You can create linear functions and mequalities
from 2 sequence, table, or 2 éiven relationship.

e YVou can describe key features of 2 linear
function.



What did one math book say to the
other math book?

"I don't know about you man, but I
got a lot of problems!"




